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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Which is secondary pollutant : . .b:::é Sl Lo |1 -1
% (o) co (©) €O, (B) H,50, (A)
The reduction of alkyl halides takes place in the : «‘Laﬂdz JJJ"::’JJ/ =JJ ngpc)yé:JJi’[!-_fJ/ﬁ! 0
presence of :
Zn/HC! (D) Na/HcCl (C) Cu/HCI (B) Mg /HCI (A)
Which one of the following is not a fraction of petroleum : : .;.u.?{uﬁg/d%s};gjufa. JJ,_ 3oukr |3
Kerosene oil J7o3Z” (D) Dieseloil J7Jz3 (C) Alcohol S (B) Petrol Uk (A)
The unit of molar concentration is : P by ¥ J’»}r"?f 4
mol ~'dm™ (D) moldm™ (C) mof dm™ (B) mof dm™> (A)

Which one of the following disease causes severe  : .g.&cﬂ_@nl “;.Cf...r KLAS Sude A Sizir|5
diarrhea and can be fatal :

Jaundice w6y (D) Cholera .2z (C) Dysentery (/5 (B) Typhoid Xkt (A)

A reverse reaction is one : L& 0 uﬁg I$s Jugs |6
Which proceeds from left to right «‘Lbﬁdb».,r'lgq: b L2 (A)

In which reactants react to form product (Jf < I::Jis{:ﬁ/&gld) oI S (B)
Which speeds up graduallye_t & Eois (D) Which slows down gradually <ty TC s (9]

Which one of the following salts makes the water permanently hard : : < Gst = 20 g/’ u’-'-'i;ll 2#s |7

Ca SO, (D) Ca(HCOy), (C) Na, CO; (B) NaHCO, (A)
The water of crystallization is responsible for the : Dee Myl ¥ J’I u"?fl}”/ T /418
Boiling points of crystals b/u:‘ ?‘;’ Sy d:./& 73 (B) Melting points of crystals Ku; T{ bﬁ’?fé }' '] (A)
Transition point of crystals K.:f':f;c/ty‘lfi Jr (D) Shapes of crystals KJ&IJ:P/ (C)
Lactic acid is found in : _ e bl Ll 42 |9
Lemon u'.fu;‘.{ (D)  Urine ez (C)  Sour milk u’-'-'ws:é..ﬂ’d’.; (B) Apple (aer (A)
Which vitamin is fat soluble : e b ol I For o5 10
B Complex %3 (D) B (C) K (B) C (A
Wood contains carbon about : fe bl L ik l._«,/-’y l d}i 11
+2 70% (D) 44 60% (C) 44 50% (B) 4 40% (A)
Formula of paimitic acid is : fe UrB ¥ A u@)j; 12

Ci6H; COOH (D) C5sH;;COOH (c)y CsH3; COOH (B) C\;Hy5 COOH (A)
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10 2. Write short answers to any FIVE (5) questions : vz L ey 5)6L < O 2

(i) What is meant by the term "Chemical equilibrium state" ? teslpfe _-Jbb(ﬂ:/d:g S ()
(i) Define irreversible reaction, give an example. ~ -Z&=> Je g & 7§ S S (i)

(iii) What do you mean by the extent of reaction? S sy Lf o w J u:gldz (iii)
(iv) Write down two macroscopic characteristics of forward reaction. & .:.,y:f'_{ 1% »Juf‘g 1523296 (iv)
(v) Why H*ion acts as a Lewis acid ? ?‘f—ﬁf (¥ ¢ 'J}b i dud T HY )
(vi) Define pH. What is the pH of pure water? T & pH J d}; J’JIJ- %= & ....g/"" J pH (Vi)
(vil) Write the name and formulae of two mineral acids. 4 __'/f“ Lrinl ot il J7 e (Vi)
(viii) Differentiate between conjugate acid and conjugate base. -ET:V uyJ/u:w:,ff AP 11 (viii)
10 3. Write short answers to any FIVE (5) questions : ol N4 /3 L ey (5)5(5 = J)/ -3
(i) What is meant by isomerism? N y’ < (}/.‘r‘fl' 0]
(i) What is an ester group? Write down the formula of ethyl aoetate...ﬁ U268, _*.,,?JJILé’-i fe Lﬁ,{.-:f%l (i)
(iif) Write any two uses of organic compounds. e L Jkig LT (i)
(iv) Why are the alkenes called olefins? St Jlk-( Ur’: Ads (alkenes) /{gi (iv)
(v) Differentiate between saturated and unsaturated hydrocarbons. 2= O /% 7/ 48y Ses £ Sl s (V)
(ViWrite two characteristics of monosaccharides. @l =L v 3 d/ }if!/& dy (Vi)
(vii) Write two points of importance of vitamins. -é _/,; =g L ol J Al (vii)
(viii) What is the function of DNA? < l..;r J:"D § (DNA) I /I $5 (viii)
10 4. Write short answers to any FIVE (5) questions : - é 4 /‘9 L =y (5) 5& = Jf -4
(i) Write down the name of stratosphere's regions. & rt L 7 Lz /:‘l’x.} (i)
(ii) Write down two effects of SO, gk ”//7 =i L SO, (i)
(iii) Differentiate between primary and secondary air pollutants. -é;ib’& u’t&;ﬁdﬁ:&sld /’{le (iii)
(iv) What is jaundice? Give its symptoms. A J J e l{ by (iv)
(v) Write down two properties of water. -Z‘fg ,_//z u:—_.Lar“; 2 d/ dk (v)
(vi) What is meant by minerals? e sip y/ = 27 (Vi)
(vi) How is ammonia prepared for the synthesis of urea? e b‘Lg_L.l'f.d_/:'/ yw{.é@gd’ Ly (vii)
(viii) Write down the two uses of petroleum ether. A e LA ﬁ:},’ (viii)
( PART-II (» )
Note : Attempt any TWO questions. o O 4 L ety »e Jf 0T

5 5. (a) How the direction of a reaction '?.f_C;C!.gerh’d_’pﬂ{u‘ﬁgldza.;}-sdwd/&)féjd:gi () -5
can be predicted by the numeric value of equilibrium constant?

4 (b) Write the concept of Bronsted Lowry -‘&:uﬁ't’;’«' L B N A s ()
about acids and bases. Give examples.

5 6. (a) Write any five uses of ethene. oy (Ethene) o1 () -6
4 (b) Explain any four sources of lipids. -é oo J Y J;‘/ .8 i (o)
5 7. (a) Write down five advantages of Solvay's Process. g 7 é& L Uy (D27
4 (b) Describe two methods for the removal of ‘éung__},;z:;/ﬁ’fwfs;;m{g!dg (&)

permanent hardness of water.
212-019-I-(Essay Type)-1010C0
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

& 11 kilometer (D) %5 15 kiometer (C) ¥ 30 Kilometer (B) X¥ 35 kilometer (A)

Lactic acid is present in : P bl bl 42 G |1 -1
Sour milk 215345 (D) Apple o (C) = Orange Ul (B) Lemon (2 (A)
Rapid growth of algae in water bodies is because : .:.:.Jﬁ/':"a’s)iﬂ{fu’:t_}& ;—_.?;deﬁﬂf‘/ﬂv;.c)fuﬁ.::)_ /5|2
of detergent having :
Phosphate saits Jv bed6 (B) Sulphate salts Lfﬂl/...gif (A)
Carbonate salts u’y ety K (D) Sulphonic acid salts u‘y (PN L (C)
Thousands of amino acids polymerize to form - : ujLL&./} 7 /:':;}ir.’fi:tfu»lj; 3
Lipids 4 (D) Proteins y‘r:’:.; (C)  Carbohydrates u”:sz}:!;b’ (B)  Vitamins #ts (A)
In the lime kiln the reaction goes to completion because of © 5:..,.‘9:0’&..:?‘_}; A:Jig f{_,‘.rg_,t BP0 J‘Jé_;; 4
CaCO; — CaO + CO2
CaO is more stable than CaCO; tn(@:;pl( Ca0 =8 CaCO; (A)
CaO is not dissociated (42§ CaO (B)
Low temperature ,f-/;}f (C)
C02 escapes continuously tﬁb;lé;}’v ' 002 (D)
The most important oligosaccharide is : fe Jffxc’.éd (M &« «-|5
Fructose ;,‘»CS (D) Maltose J#\ (C) Sucrose J:/C (B) Glucose }:’;g (A)
When Na HCOjy s heated it forms ° v bt ) bt (f 4 Na HCO, -6
Ca (OH), (D) Co, (© CaCO;y (B) Cca0 (A)
If the value of pH solution is less than seven it will be - : &,?ﬁ&.av& pH JJ}’J% 7
A neutral solution cf:"’d)x: (D)  Anacid 42 (C)  An alkali uﬁi (B) Abase JZF (A)
Pitch is black residue of - P& (waste) s ol K J Els
Coal ¥ &5 (D)  cCoaltar ¥ .tJS (C) Coke ¥ (B)  Coalgas ¥ /2¥ (A)
Dehydration of alcohols can be carried out with : - q..&t Egd’p’ L'LJ/ c)%if}d 5(},}“’}'/! 9
NaOH (D) KOH (C) H,80, (B) HCI (A)
Which one of the following ion causes hardness in water : .*‘_'-E'r.ifyb",f-’.i;g.)lscf Tyde oS i |10
Fe** (D) Na* (C) 403+ (B) Mg* (A)
The colour of hydrogen iodide (H./) is : fe bw 1 (H.1) 2577 Sasdey |11
Blue & (D) Colourless ..fJ.L (C)I Purple u.f{ (B) Black sl (A)
About 99% atmosphere's mass lies within - T2 o u’( 44 99 L;,/-J ¥ U f-’“";cf 12
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10 2. Write short answers to any FIVE (5) questions :  : 24 =iz &7 £ =i (5) 6L = Y -2
(i) Define forward and reverse reaction. -é.—if /.’-Jui{ WSaJuds 29 5,6 (i)
(i) What do you mean by equilibrium constant? ('L;/lf.:-_. ......*-’)?/d:(l (ii)
(i) Write the equilibrium constant expression for &U‘_f’/"{l_..ﬂff/d)g!cj_ﬁ u‘fid;J:,m.-» (iii)
the reaction : H2(g]+ !2(gl == 2H1
(iv) What is dynamic equilibrium state? QL.}/L"/G'_-— JL;J(I of(k.fl:rb (iv)
(v) Write limitation of Arrhenious concept. é uL— 340 .,}"’ u"f'y;r (v)
(vi) Write any two physical properties of bases. é /f ...«L:r" gfr‘; 3 d)/ J 7% (vi)
(vii) Define neutralization reaction. Give an example. ) Je ..f éf _.ef/" L; u"/er vii)
(viil) What are mixed salts? Give an example. _ (JL" {...g N4 y’ J‘Jl.z L0 (viii)
10 3. Write short answers to any FIVE (5) questions : & =iz & £ =iy (5) §} « df -3
(i) Write down different types of coal. 4 (i g £S5 )
(ii) What is isomerism? Give an example. e (}/r‘lf (i) |
(iii) What is structural formula? Give an example. St Y Ul J/.,(/‘ (i) ‘
(iv) What are closed chain hydrocarbons? Give an example. - Z=sJ& St t_,_f AL SE 338 (iv)
(V) Why are alkenes reactive? ,f o sl (V) !
(vi) Name two diseases caused by deficiency of vitamin A. -.;‘.g{'tiu!;h»dbd_.ra. Jd..lu“'lf (vi)
(vii) Where are protein found? e db dt A e ui':/ (vii) E
(viii) What is difference between glucose and fructose? 7= g/ L-r u" J//’ yI1 Jﬁ (viii) |
10 4. Write short answers to any FIVE (5) questions : : & utli /"? L ety (5) éL & Jf - :
(i) Write the name of two primary air pollutants. "u"l,?tﬁ ‘IQ';L dLA—’d/I/» (i) !
(i) write two effects of ozone depletion. -d,g elin L J e J Yaist (i)
(iii) What is the temperature range of stratosphere and mesosphere? < U/CJZ /"J 4 39l /z“' x (i)
(iv) What is the reason of jaundice and typhoid? ‘e LJ’ = J 2ut sl Yy (iv)
(v) Write two disadvantages of hard water. -é et 9 L »y (v)

(vi) Name any two processes which involved ..d_g L /"ffs:z’; 3 /Lﬂ"icf.g)v‘bffb._. i (vi)

in metallurgy for extraction of a metal in the pure state from its ore.
(vii) Write the formulae of matte and urea. Bl L Lig 90 & (vii)
(viii) Write two advantages of Solvay's process. i L u’/l{ b (viii)
( PART-1I (93 & )
Note : Attempt any TWO questions. & IO 4 Ly e Jf O
5 RN ASE L L PO AL ZE e FEIASTY () -5

5. (a) State the Law of Mass Action and derive equilibrium constant expression for general reaction.
(b) Explain the Lewis concept of acids and bases. _é =2y J ,/5’ u‘;f . 7% sl Sa (..,.r)

4
5 6. (a) Write down the uses of acetylene. & eyl (Acetylene) d-'-’(,;J“i (A1) .6
..éup@dlsLﬁ;.,vJJJQDJU/Jf&?U:JE:’.&JJ: (...,)
(b) Write down the sources and diseases due to deficiency of some fat soluble vitamins.
5 - Eeol§u L e L pl gy () .7
7. (a) Explain the process of smelting with reference to copper.
4 “’_Uél/l’»éd./f’g”u{,..-dt/d’dt ()

(b) Write two methods for the removal of permanent hardness of water.
213-019-11-(Essay Type)-79000




